Matte 329  Praw 2 9/9/200Y e i
@a)gy z eruA:oug 7&&9%} £3 '&‘2 Ve ('ﬁ.‘—v"/ j:lgkg g,‘fu.,,;";f)
o0

- _ o ) _— i
71‘2)‘ "C —— VG’Q r“” 'fQCM i’; Crince j’ﬂf"’«‘g{ M!&cyféwwjy st LT -S.‘“E‘Q

EE = (vav ) (e iva) = “'&‘Qﬁ“bﬁ IV; v, 2 va/rgz'”’?"\ = o=
L) A? an*@u*{i’[lmmfi-, [Qé}uwf{") of §7’ 5o e };?fog/mf L otatons (: Jén&-f:/;}{a;;)
piliab we glownd is Just ot rotathin, Euver vodnhon off ST fixes a P
Qg aw;lmajw( fo(fwfs Hoad /fﬁ o flu axig 9? e Ay T
) Suppose all locdus of WY do /1€ o 7’“@“/ e les. !Q; Govard s 'ﬂw/ Hae Giea
& a 7(46,@/,,’/44&& = pugle sum — D7 Assuming ﬂ"waf presoves avples,

flan | ST @Y):_(f/)_...—«(%) :27 =0© i S,Z W/’“‘r /s '/buporr/[(e,

et et

Dy T(0:0)= Y4514 (00) - naa(o9=4%5(-20)= g (02 = (%2

- b) Tramg (atiow 43 = (Y, %), P Q o gr.w
® Lils & PP =g el Y/ 8 & slom St
eyt e B/ A oy b
ple
@60 Gwen &)‘L‘V) V,E;—j d,:i,‘i+~\7‘) dy= -V | .
Z

1, [= ([{+)- (47 ) = G4 Bt = (G 2B T (21T = [
B T
Midpoiat oF dp= 2(-V)+ v , @/

- =
M-Ji(u—un) +

o

b) midpoint of d; = F(A+7 ).
L@+ = L(w-2)F0 = 1 £V

O pest D loPl=] = [fo)£[=] = [04®)]= = f)es?
£ souuetey Lro)=0
LY clordel dafewce is fle dictance i /{23 S0 e avy P Q X
4 )

[P $(D | fdx = IPQ,GEW‘I{@( = {,{:(p)g(m(y = P, = £ Botats of g2
c gc

7 e
@ ok I
A,B ‘rhwng.—_@ {0A|~:':'OB'} w»c( AP.LOP) gP_LOP Silate @P.LW

: AAOPL—: JAY BOP,-. é(y HL (/’3#\&9&‘\90% 77'“4) Sikce or i ézjeg' . "qujég

=Pl = (BP|  Comespondiy cides => A B are on conle 4



